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R OBEFEIL 4B ARATEEL R AERIL 4R E, BH—-FEHRA
WAE 11, 4(b) W, &, | T 4%
I, = 2=9:-7 — 6. 0086(A) = 8.6(mA)

500
_Up __ 0.7
Rp = —I: = 5.0086 > 81(Q
5V
200Q 100Q + A 2008 500Q - +
3V
+ _UD + ]D
(1 =
<

(a) (b)

11.5 ED 11.5 FFR#E .U, =6V, u, =0. 1sinl00x2 (V) ,R=820Q. R R &

B ip FOALE up .
B A TER R-_BREERETER U,~0.7V, |

__U]‘U[)__G_‘O.’ZN —
I, = 7 = 370 a 0.0065(A) = 6.5(mA)
ZHREHNAEEHE
S J NYES o
D : HE 11.5

- o : 4 — 4 s .
ug Us IR (0. 1sin1000m2) X 1180~ 4.9 X 10™*sin1000xt (V)
;o ¥ —us __ 0.1sin1000nz —4.9 X 107 5in10007z

d R 820

a— 1.2 X 107*sinl000xt(A) =— 0. 125in1000xt{mA)
RENAGEEWESE,H ‘
up = Up + 4y = 0.7 — 4,9 X 10™*5in1000x£(V)
in = I, +iy = 6.5—0.12s8in10007t(mA)
11.6 K& 11. 6 iR i B, 2.0 AR %8 2 38 B (9 1E a] FE B L SR F 0 JLFP 15 60 F 4
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B Vo RIE:
(1) Vo=Vy=0.3V;
(2) V,=0.3V,Vy=3V;
(3) Vo=Vy=3V,
M % VA:VB:O.SV'HQL9WJ‘:ﬁ%%B‘SiiE9@JHZ V,=0.3V,
(2) ¥ V,a=0,3V.Vy=3VH,D, 88, D, AZRHEEMLL,H Vo=0.3V,
(3) ¥ Vo=Vp=3VH, ,BH_RELHFH,EHH Vo=3V,

+12V
7 Ry I
+ O Lt

D, 3.3kQ }IZ +
VAO < y ° Vo ) UI + RL UO

D, , DZZSUZ
Ve O_‘Q—_‘ - o - -

& 11.6 EE 11,7

1.7 B 117 iRl igd, D, yEERE_RE  BEREN U, =6V, R EHLR
H Ipmin =2mA Fl Innex=12mA, WABREU,=10V,RB KB R, =200Q, HESHEE
s Uo=U,, RABMBHEM R FEITEE.
U, —U;_10—6

Y I =Ipyw=2mA B, R BB K E A,
ILmax =1~ IZmin =20—2 = ls(mA)

B ok, 1 2 v B N E |
Us

_Us _ 6 _
Rinn = T 187" 0.333(k) 333D

EI‘Tﬁ IZ=IZmax:12mA w’ﬁﬁ%m%d\’ﬁp
ILmin = I—— IZmax = 20—'12 = 8(mA)
Ek, AR HRAMEN

FTREZ AR BN A F LY EE 333~750Q,

11.8 B 11. 7 Fraaiy g D, HEBBE R E, BEBER U, =6V, R EH I
R Izmin =2mA Fl Inux =12mA, B AHBE U, =10V, 8B H R, =2kQ, Z i H e EE
i Uo=U,, RERF B R, GHE H R, BB KGR /ME, R G —AFEED R, I %%

PR ) e PR o o B LA B S SR AR W W WL 1W %)

ﬂ IL=—=—':3(mA)

Imax = IZmax+IL = 12+3 = 15(mA)
Imin = IZmin+IL = 2—'_3 = S(mA)
Bt LA TR i W P &9 B N A :
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S TR S EFEACTH DERE

Riwin = U‘I_ Uz _ wlg 6 ~0.267(k) = 267¢(Q)

PR LR A A
UI_UZ 10—6

Rzwex = i =—5 = 0. 8(kQ) = 800(

¥ R,=500Q B ,R, iR N
P _ (U["‘Uz)z o (10_6)2
Re T R, 500

= 0.032(W)

B DL R, 8 5000+ W 4 B B

11.9 E& 117 RS ,D, yEARE _HRE . BERERU,. =6V, BEH
WA Izwin=2mA fl Ipn. =12mA, RFEHEHE R, =500Q, A BEE R, =2kQ, & H % H
EEEM%% U()ZUZ JK%/\EEBE UI E"Jﬁi’#@’f’t}ﬁ@o

I = Ipne + I, = 12+ 3 = 15(mA)
Lin = Izain + I, = 2+ 3 = 5(mA)
Bl N E U, & KE
Uppax = InaxRz +U; = 15X 0.546 = 13, 5(V)
WANEE U, W& /NME Y
Uin = IninRz +U; =5X0.54+6 = 8.5¢(V)
E, N EU WA FELEEH 8.5~13.5V,

11.10 A& 11. 7 R ggs, Ui =8V,R, =200,D, AR BEBE_HE KT
YER WA Iznn=1mA Al I, =60mA,r, =100, I, =30mA & ,U, =5V, RHKE K
AT REM B R E AR /ME.

wm B4 ‘

- AU, — U; —Ugzmin _ Uz — Uszgex
Al I — I I — Imax
BREFTHERN L  REEREEEAD, B
Uzwin = Uz — Uz — Izmin)rz = 5 — (30— 1) X 0.01 = 4. 71(V)
BREETHERN L B REFREME KL, B
Uzmax = Uz — (Iz — Iggex )rz = 5 — (30— 60) X 0,01 = 5. 3(V)

IREFTHRRN LB ARER I HRAE XAAKAEY

rz

Ui—Usme , _8—47 | _
| Ipey = R, Ijin = 002 1 =163.5(mA)
EREFLHREN Dna b, AR I AR AE, XARAINEH
___UI——UZmax_ _8_5.3_ _
I = ———_~RZA Tz = 0.02 60 = 75(mA)

11,11 & 1111 iR & sigd,.Ui=15V, #BEE_HBENREMHEN U,=6V, ]
EMFEREY TN RE, ERERE U~0.7V, REBEH U, M.

B () Up=2U,=2X6=12(V);

(b) Up=2U;=2X0.7=1.4(V);
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U i R ||y U \ R || Uo U N R.||Uo
1 — 0

N / /
- O - —_ O - - O -

(@ (b) (©

EHE 1111

(0) Up=Uz;+Ur=6+0.7=6.7(V).
11,12 E& 1L 12 iR d i, BRE AR SHREME Y U, =5V, K IF /1 586t
HIERES Ue0. 7V, S ABIE w BB 0B TR, 8 8 S8 E o, .

Ry Rz
+10V + o + +10V - T +
OVM 4 ZS‘ R Uy ov u; ZS Ry U,
o —1ov o _
(@) (b)
BE 11.12 )

B OFEBERBEE u EB S mEE 1112 (D) FFFE.

Ui u
+10v /"\\ //"\\ +10V I——]——-v =
7 u +5V % |
v fmN L A B

/ \ \ R
OV —07V | \ |
-10v -1 e
(a) )
E# 11.12

LI A3 — 5 1 0 O WL B 0 K 0 B0 0 A 6 o 28 0 0 o 4 0 gl 22 40 3 4
E &1, 13(&)‘(b)ﬂfﬁ<’%?§lf/ﬁﬁ5\ml‘§%%j§ U =0.67V, Ui =6V, ERA JHH
WEHR LR S TESAMIENSI SR r BSERR AR B M BBMH KR
¥ 8.
B OBAIIHEN QEEMEILIND (D F.
ERMAREGEX L NG QAN ALEFLE
UBE = 0, 67V9 IB == SOpA
EREBESHR L, NG QEMWAHFL
UCE = 6V’ IC = 1. SmA
BHTUTHE B BEILRAERARE R H
1.5

= Ic N
5“13_0.03—50
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5 I=50uA
2.
50 Pl
0 40pA
2.
40 ! L] ]
Q Q 30uA
30 1.5 et
g I[ 3 12 FAI
= A 3 Ot
20 =10
[ [[ [
]: 10pA
10 ; 0.5
1 L S
0 05 067 1 UV 0 6 12 UV
(@ (b)
@ 11.13

AR L, Is K 30uA ¥ w3 40pA B ,U A 0. 67V ¥ w2 0. 69V, H K
k@A EY

_0.69—0.67

= 504 =003 ~ 2k

T'pe

EREBEES R L, Ue=6V A% ,Iz A 30pA 3 w3 40pA B, 1c A 1. 5mA ¥ o3
A, EH G ARREARK LA

S 2—1.5 _ .
B=500=0.03 50

11. 14  FEFE 11. 14 Brn s B b B A R AR 0 NPN BUEE & 4% ,p=100, U =12V,
Ry =50kQ,R-=5kQ, WREBRHFEERMBIEUpx=0.7V, ¥ Uy;=0V,1.4V 2.4V
Bf, S REBEEH Is.Ic M Uk, HMHEBEENT
ERAE (B KM AD., BEEFTHEMAE
Ugs=0V,

R Bmffo K Uses=0V, U £ b &t fr

Is = e ;CUCES =220 _ 2 4tma)
(1) % Us=0V B, E@% Us N FREWE 0.5V, BHE 1114
Fir LA
Is =0, Ic=0, Ug=U;=12V
mEELTRERS.

(2) % Upy=1.4V 8¢

Ug—0.7  1.4—0.7 _
R, = 20 == 0. 014(mA)

Ic = fly = 100 X 0.014 = 1. 4(mA) < Ies = 2. 4(mA)

IB:



ENE ¥ESUARGFIBRE ()

i mEELTHARE,
UCE == UC—ICRC = 12—1.4><5 == S(V)
(3) ¥ Up=2.4V it

Ug—0.7  2.4—0.7 _
R = Tgg = 0.034(mA)

Io = Bl = 100X 0.034 = 3.4(mA) > Is = 2. 4(mA)
U gL FafRas.
SR E,Ic A AFE 3. 4mA, B AE Is=2.4mA, b it Uge=~0V,
11.15  FE&E 11. 14 rR M B8 o, & Uc =18V, Ry =30kQ, Rc =2k, U =2V, 8=
80, AT it RAAE A TH 4 TERE . HHREEZAM Re,Re K% 548 i ik
RREHFEANBACRS . B AET BE 45 @0 M ER U =0. 7V,

_Us—0.7_2—0,7_
.4 Ig= R, %0 0. 043(mA)

IB:

Ic = Al = 80 X 0.043 = 3, 44(mA)
Ug =Uc—IcRc = 18—3.44 X 2 = 11.12(V)
W B, 8 R E Y Ucg >Usge =0. 7V’Ep%%%ﬁﬁ,a%ﬁ%ﬁt%ﬁkﬁf§o
L Uce<Upe=0.7VH, BUEER, FAELFHUIRE TUR W LRER Y

_Ue—Ueg 18§—0.7
R. = I. = 3. 44 2~ 5.03(kQ)

11.16 & & 11, 14 F)fﬁ:ﬂ{‘]%ﬂﬁFP,Uc=24V,UB=2V,RB=20kQ,,8=80,PCM=
100mW, Iy =30mA., .

(1) #F Rc=1.5kQ, H¥i R E L mRB T Ic MERIIR Pc REEEATE;

(2) BB BEHE R MERRF/NTF L7

MmO mEesHs

_Us—0.7 _2—0,7
Iy = =g = S5 = 0.065(mA)

I = Bl = 80 X.0.065 = 5. 2(mA) < Icy = 30(mA)
Ueg = Uc—IcRc = 24 —5.2X 1.5 = 16. 2(V)
Pe = Ucgle = 16.2 X 5.2 = 84. 24(mW) < Pgy = 100(mW)

(2) % Ry=20kQ #,Ic=5.2mA, Rc # /N, Upc B /N Ucg Bk ,UceIc H 7 #6 # it

PCM__E_QN )
I. & 2»\,19. 23(V), BT A

Ure > Uc —Ucge = 24 —19.23 = 4, 77(V)
Bt UL Re oy % /ME ‘

_ Ure _ 4,77 _
= T = T ~ 0. 920k

11.17 BB 1L 17 iR REEN
PNP R 4 S & &, p= 60, Ug =12V, Ry= 50kQ,
Rc=5kQ, BRABERHNEGERE Ur=—0.3V, 24 BE 11.17

Pevo B Pe=Uclc<Pous M H Ugp<<

Rc
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BIBASHIERCITIDIERE

Ug=1V B}, SR @BEER IsIc M Uce.
B weeitls
_CU)— U _ (=D —(=0.3) — —0.014(mA)

R, 50
I. = ply = 60 X (—0.014) =—0, 84(mA)
U = (—Ue) — IcRe =— 12— (—0.84) X5 =—7.8(V)
11.18 KR 11. 18 FiR& g i Sk 4 NPN B ak B 68, 5=100. AU &
HELTFHARE, B’ Uas=0V,

Iy

o +Vee +Vee o +Vee +Vee
Re +12V +S5V R +10V Rg Rc +6V
1kQ 2.2kQ 33k L 1.8kQ
Re
1kQ
—Vee
-5V
(b) © G))

EE 11.18

B () HEHEHRE
Vee ZUess _ 1220 _ 15(19p)

Ies = Rc = 1
Iy W93 KA LA b
Tl 12
IBmax - ﬁ - 100 - 0. 12(mA)

TN R E A, LFF b
Vee — 0.7 _12—0

L7
R, 15 = 0. 75(mA) > I,

IBZ

Frok, kg4 THRARA.
(b) e mEHE

Vee — (— Vi) — Ucgs 12— (—5)—0
Ies =~ = S
cs Re+ R, 1+2 2 5.31(mA)

Iy Wi KA N A8 3t
_ Tes _5.31
Tgna = =300 — 0.0531(mA)

B
TG EEH R, LR L .
= 0= V) =07 0—(=5)—0.7 Voo

Re+ (B+DRe 22+ (100+1) X 2.2
A 0.0176(mA) < Iy
B oA, @tk B 4 T AR A,
() AR T2 /A 11.18(c) % % % B4 11. 18, Ef 1118
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ENE YSURBGEDERE 'f

He
Vee R, _10X15
R TR —47+15~2 42(V)

Vi =

V(/( ULES _ 10—0 ~
ICS’\' RC+RE 2‘2+1~3. 13(mA)

I R AEF AL -

_les 313 _
IBmax - B 100 O O313(mA)
EHEEERER, L E
A e 2.42 0.7 ~ 0. 0153(mA) < I

Re+ B+ DRy 1.4+ 100+ D X1
B, gkt THRARS.
(D HewiHusi

Ics
I th 5 AfE 7 BT

VCC_UCES — 6—0

R T8 2 3. 33(mA)

X

= 0, 0333(mA)

TR EEER B, BN
Voo = IcRe + IsRs + Use = (fI)Rc + IRy + Use

Fr L
Iy = ‘I/;:%—ﬂLIJQB: = 33_310(());(71. g~ 0.0248(mA) << Iy,

KRBT THRARA.

11.19 B 11. 19 s BB, N ¥ 18 45 B 35 508 5 1
Inss =5mA ,Ugssioy = — 4V, RGO EH S TR Ugs Ups
Iy,

B OmeBEETw

Vo = R1+R2V 252+2><9"’1 3(V)
B BT A
Uss = Ve —RsIp = 1,3—3. 31,

U‘ 2
RE o=l (1— 52— ) T5l% %

GS(off)

Ip = 4 X (1 —H—GZ)Z

¥l ERH KRB R, 5

ID = lmA UGS =2V
Bt B




e B TR SBFRACTA IERE

Ups = Vop — (Rp +R)Ip = 18 — (4. 74 3. 3) X 1 = 10(V)
11.20 H—N VB FE R B MOS ., E H1 Ucscotn =_10V9¥l Ugs=—2V HTJ',IDZ
3on Ek IDSSo

Uss \* ,
fR RAEHRE TR ID=IDSS<1_UG:m) i
Iy 3
DSS (1_ Ua )2 (1_ 2) !
Usscotn —14

11. 21 ﬁ#PﬁLiggﬁﬂ MOS%: B%ﬂ UGS(th):_BVy_‘é!! U(‘,s:_].zv HTJ-,ID:
10mA, FIFBUN & BB W T MY Uss=—5. 5V I Ip., (HE: S0 % s i o &2
Wiy T T 1) & SE PR 7 1))

Us b
B AR R R To=Too (1)
I 10
Io = = — ; ~ 1. 11(mA)
=) ()
UGS(th) =3
F)’ru?—ﬁ ch:_5~5v ES]'»
2
Iy s 1 (—543—5—1) A 0. 96(mA)

11.22 Determine the voltage with respect to ground at each point in Figure 11. 22.

(The diodes are silicon. ) D, R D,
B V.=24V,Vo=6V Apiia i D
Ve=Va—0.7=24—0.7=23. 3(V) Yoy d F 9 13 v
Ve=Vp+0.7=640.7=6.7(V) oY T_ T_ 6V

11.23 Determine the minimum input

|||—

voltage required for regulation to be established

in Figure 11. 23. Assume an Zener diode with Figure 11.22

IZmin:]~~ 5mA, rZZIOQ,and VZ:15V at 12:30mA

+ o /\/Iil/\, ) B AR = 1, —"I/Z::n’?a
Vi as Viin=Vz—r;(I; — I Zmin )
= 15—10.01 X (30 — 1. 5) & 14, 72(V)
—~i9 i UREFETEERN LB N ETURAD, XAK
= INE N E K
Flgnre 211 23 Vivon = IzoinRz + Vizmn = 1.5 X 0. 62 4 14. 72 = 15. 65(V)

11.24 To what value must R; be adjusted in Figure 11. 24 to make I, =40mA?
Assume V; =12V at 30mA and r,=25Q.
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—_— 4 )
BRI = * "
IL,—1I , R,
Vo=V, —r (I, — I i ‘IZ v
= 12—0.025 X (30 —40) = 12, 25(V)

— O l Q-

Fr 2 =2

) :
R, = Vin—Ve 16 —12.25 2~ 0. 094k = 94(Q) Figure 11.24

I, 40
11.25 The silicon transistor in Figure 11. 25 has a 8y of 60. (1) Determine the
value of Ry required to ensure saturation when Viy is 4V. Assume Vg = 0. 3V.

(2)What minimum value of Vyy is necessary for saturation when Ry is 100kQ?

gy B BB RARA
Ve = Virao 18 —- 0. 3
R‘ ~ == == p—t
1(,5[((2 IL(sat) RC 1' 5 11. S(mA)
Rs 8 B AR Lo B ER KN
R Tcion 11.8
Ister = “ED‘C‘— = %0 =~ 0.197(mA)
= BT 2L
Figure 11,25 Vin—0.7 4—0.7
R, = Tos =~ 5 197 = 16. 8(kQ)

(2) Vlein - [B(sat)RB+O- 7=0.197 X 100+0. 7=720. 4(V).
11.26 Graphically determine the Q-point (Ugs, Ip) for the p-channel JFET circuit

in Figure 11. 26(a) using the transfer characteristic curve in Figure 11. 26(b).

Ip
[DSS=10mA —
U
ID:-EC?
T 1-AQ
T
!
/T
T
|
|
|
0 VGS(Off)=7V 10V VGS
(@) )]

Figure 11.26

4 }‘}\EEA%@—EI'/T‘%‘VGS:VG_VS:O_(—IDRS):IDRS9Ep
_ Vs Vs
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